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PSC Clerkship (Prelims) Exam. – Practice Set

Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c) îÏÄy„þîy„þ ‹y“þ#ëû vþz”Äy˜ =‹îûyöìÝþ xî!ßþi“þÐ ~!Ýþ 1976 ¢yöìœ
¢%îû!Çþ“þ ~œy„þy !£¢yöìî ²Ì!“þ!Ûþ“þ £öìëû!ŠéœÐ

2. (d) xyˆ%öìîû öë xÄy!¢vþ þ™yçëûy ëyëû “þy £œ ÝþyÝÅþy!îû„þ xÄy!¢vþÐ
ÝþyÝÅþy!îû„þ xÄy!¢vþ £œ ~„þ!Ýþ ¢y”y– ßþ³þ!Ýþ„þ ÷‹î xÄy!¢vþ ëy
²Ìy„,þ!“þ„þ¦þyöìî xöì̃ „þ šþöìœîû ›öì•Ä þ™yçëûy ëyëûÐ !îöìŸ¡ì „þöìîû
xyˆ%îû– „¤þy‰þy xy› ~î‚ ö“¤þ“%þœÐ

3. (d) öšÏþ!›‚öìëûîû vþy˜ £yöì“þîû !˜ëûöì› “þ‹Å̃ # ö‰þïÁº„þöìÇþöìeîû !”„þ
!˜öì”ÅŸ „þöìîûÐ
öšÏþ!›‚öìëûîû vþy˜ £yöì“þîû !˜ëû›éôôôé
S1V î,kþyD%Ûþ ­ ~!Ýþ þ™!îûîy£#îû †!“þöìîöì†îû !”„þ îîûyîîûÐ
S2V ›•Ä›y ­ ~!Ýþ ößþËyöì“þîû !”„þ !˜öì”ÅŸ „þöìîûÐ
S3V “þ‹Å̃ # ­ ~!Ýþ ö‰þïÁº„þöìÇþöìeîû !”„þ !˜öì”ÅŸ „þöìîûÐ

4. (a)  …y‹%îûyöì£y ›!¨îû ‰þyöì̈ œ îûy‹î‚öìŸîû Ÿy¢„þöì”îû myîûy
!˜!›Å“þ £öìëû!ŠéœÐ

 …y‹%îûyöì£y ›!¨îû !£¨% ~î‚ ÷‹˜•öì›Åîû xhsþ†Å“þÐ
 …y‹%îûyöì£y ›!¨îû ›•Ä²Ìöì”öìŸîû Šéy“þyîû ö‹œyîû xhsþ†Å“þÐ

~!Ýþ 1986 ¢yöìœ £zvþzöì̃ öìßþñy çëûyÓÅþ ö£!îûöìÝþ‹ ¢y£zöìÝþ
xhsþ¦%Åþ_« „þîûy £öìëûöìŠéÐ

5. (a) ¢œ›˜ îû&Ÿ!” ~„þ‹˜ !îÊ!ÝþŸ ¦þyîû“þ#ëû èþ™˜Äy!¢„þ ~î‚
²Ìyî!õþ„þÐ “¤þyîû !m“þ#ëû vþzþ™˜Äy¢ ò!›vþ˜y£zÝþ !‰þœöìvÈþ˜óéôé~îû
‹˜Ä 1981 ¢yöìœ î%„þyîû þ™%îûßþñyîû !‹öì“þ!Šéöìœ˜Ð

6. (a) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 243G •yîûy þ™Mþéyöìëûöì“þîû Çþ›“þy– „þ“,þc
~î‚ ”y!ëûöìcîû ¢yöìí ¢Á™!„þ“ÅþÐ
¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 243E •yîûy þ™Mþéyöìëûöì“þîû ö›ëûyöì”îû ¢yöìí
¢Á™!„Åþ“þÐ

7. (b) vþzœyîû £É” ¦þyîûöì“þîû î,£_› !›!ÜT ‹öìœîû £É” ~î‚ ~!Ýþ
öÝþ„þÝþy!˜„þ £É”Ð ~öì“þ !¢õ%þ ˜”#îû vþzþ™˜”# !Gþœy› ˜”#îû ‹œ
îûöìëûöìŠéÐ ~£z £É” ‹Á¿% ç „þyÙÂ#öìîû xî!ßþi“þÐ

8. (b) ö¦þÁ™!“þ !‰þ§¬y ¢“þÄ› ~„þ ¦þyîû“þ#ëû „%þ!‰þþ™%!vþü ˜,“þÄ!ŸÒ# !Šéöìœ˜Ð
!“þ!˜ xõÉþ²Ìöì”öìŸîû îÊyáþ’ þ™!îûîyöìîû ‹§Ã@ùÌ£’ „þöìîû!Šéöìœ˜Ð
!“þ!˜ ¦þyîû“þ ¢îû„þyîû „þ“,Åþ„þ þ™p¦)þ¡ìöì’ ¢Á¿y!˜“þ £öìëû!Šéöìœ˜Ð

9. (a) ‹yþ™y!˜ ~˜öì¢šþyœy£z!Ýþ¢ öîûy† £œ ‹yþ™y!˜ ~˜öì¢šþyœy£z!Ýþ¢
¦þy£zîûy¢ (JEV) myîûy ¢,ÜT öîûy†Ð ~!Ýþ ›y˜%öì¡ìîû ›!hßþÜñöì„þ
xye«yhsþ „þöìîûÐ ~!Ýþ ›Ÿyîy!£“þ ¢‚e«›’Ð

10. (b) Ýþy£zšþöìëûvþ £œ ~„þ!Ýþ îÄy„þöìÝþ!îûëûy ‡!Ýþ“þ öîûy†Ð ~!Ýþ
¢yœöì›yöì̃ œy Ýþy£z!šþ îÄy„þöìÝþ!îûëûy myîûy ¢,ÜTÐ

11. (b) SARS öîûyöì†îû þ™%öìîûy ˜y› £œ !¢!¦þëûyîû xÄy!„þvþzÝþ
öîû¢!þ™öìîûÝþ!îû !¢öìuÈþy›Ð SARS ~„þ!Ýþ ¦þy£zî ûy¢‡!Ýþ“þ

Ù»y¢ëöìsþfîû öîûy†Ð ~!Ýþ œyœyîû Ç%þo „þ’y=!œîû ›y•Äöì› Šé!vþüöìëû
ëyëûÐ

12. (c) ›Äyöìœ!îûëûy ~î‚ „þyœy‹µîû ö²Ìyö ìÝþyö ì‹yëûy myîûy ¢,ÜTÐ
ö²ÌyöìÝþyöì‹yëûy £œ ~„þöì„þy¡ì# £zvþz„þÄy!îûç!Ýþ„þ ‹#îÐ ›Äyöìœ!îûëûy
¢,!ÜT„þyîû# ö²ÌyöìÝþyöì‹yëûy £œ ²Õy¢öì›y!vþëûy› ~î‚ „þyœy‹µîû
¢,!ÜT„þyîû# ö²ÌyöìÝþyöì‹yëûy £œ öœŸ›y!˜ëûy övþy˜yvþy!˜Ð

13. (b) ‡˜#¦þîöì̃ îû ¢›ëû !˜†Å“þ “þyþ™öì„þ œ#˜“þyþ™ îöìœÐ
14. (d) ö¦þï“þ þ™!îûî“Åþöì̃ îû vþz”y£îû’=!œ £œéôô ‹œ š%þ!Ýþöìëû îyöìÜ™

þ™!îû’“þ „þîûy– îîûšþ †öìœ ëyçëûy– ‹öììœ œî˜ oî#¦)þ“þ £çëûyÐ
15. (b) ö„Ïþyöìîûyšþ›Å îy ÝþÆy£zöì„Ïþyöìîûy!›öìí˜ (CHCl3) £œ ~„þ!Ýþ î’Å£#˜–

‡˜ ~î‚ x”y£Ä “þîûœ þ™”yíÅÐ ~!Ýþîû ßþºy” !›!ÜT ~î‚ ¢%̈ îû
†õþ îûöìëûöìŠéÐ

16. (a) öî!„þ‚ ö¢yvþyîû îûy¢yëû!˜„þ ˜y› £œ ö¢y!vþëûy› îy£z „þyîÅöì̃ ÝþÐ
1971 ¢yöìœ ö¢y!vþëûy› îy£z „þyîÅöì̃ Ýþ (NaHCO3) !˜öì„þyœy¢
öœîÏÄyBþ ˜yöì› ~„þ‹˜ šþîûy!¢ îû¢yëû̃ !î” ~!Ýþ xy!îÜñyîû
„þöìîû!Šéöìœ˜Ð

17. (a) ²Õ#£y £œ öþ™öìÝþîû ˜#öì‰þ öþ™öìÝþîû îy›!”öì„þîû ~„þ!Ýþ xDÐ ~!Ýþ
”%!Ýþ ²Ì•y˜ „þyëÅ ¢Á™y”˜ „þöìîûÐ ëíyéôô S1V îûöì_«îû ¢Mþéëû ç
îû_« þ™!îûßþËyî’Ð

18. (d) £y£zöìþ™yíÄyœy›y¢ @ùÌ!sþi Ÿîû#öìîûîû “þyþ™›yey î‹yëû îûyöì…Ð
19. (d) öÝþÆy!„Ïþëûyîû £œ xy›yöì”îû ßþ¬yëû%“þöìsþfîû ‰þ“%þíÅ ~î‚ Ç%þo“þ›

„þöìîûy!Ýþ„þy ßþ¬yëû%Ð ~!Ýþ ö‰þyöì…îû öþ™!Ÿîû ¢yöìí ¢‚öìëy† ßþiyþ™˜
„þöìîû ~î‚ ö‰þyöì…îû †!“þ!î!• !˜ëûsþf’ „þöìîûÐ

20. (b) ¢%¡ì%Á¬y ßþ¬yëû% Ÿîû#îû ~î‚ ö›îû&”öì[þîû ›öì•Ä öëy†yöìëy†„þyîû#
!£¢yöìî „þy‹ „þöìîûÐ ~!Ýþ 31 ö‹yvþüy ¢%¡ì%Á¬y ßþ¬yëû% myîûy †!àþ“þÐ

21. (c) ”%îÅœ Çþyîû ­ öë Çþyîû ‹öìœ xy‚!Ÿ„þ¦þyöìî xyëû!˜“þ £öìëû xÒ
þ™!îû›yöì’ PH– xyëû̃  ÷“þ!îû „þöìîû “þyöì„þ ”%îÅœ Çþyîû îöìœÐ
vþz”y£îû’ ­ NH4OH, mg(OH)2

Ÿ!_«Ÿyœ# Çþyîû ­ öë Çþyîû ‹öìœ ¢Á™)’Å xyëû!˜“þ £öìëû ²Ì‰%þîû
þ™!îû›yöì’ PH– xyëû̃  ÷“þ!îû „þöìîû “þyöì„þ Ÿ!_«Ÿyœ# Çþyîû
îöìœÐ
vþz”y£îû’ ­ NaOH, KOH

22. (d) ë…˜ !¢œ¦þyîû ˜y£zöìÝþÆÝþ oî’ ö¢y!vþëûy› ö„Ïþyîûy£zöìvþîû oîöì’îû
¢yöìí !›!œ“þ £ëû “þ…˜ ö¢y!vþëûy› ˜y£zöìÝþÆöìÝþîû oî’ Šéyvþüyç
!¢œ¦þyîû ˜y£zöìÝþÆöìÝþîû ¢y”y xîöìÇþþ™ vþzêþ™§¬ £ëûÐ
AgNO3 + Nacl  Agcl + NaNO3

~!Ýþ ~„þ!Ýþ ÷m“þ ²Ì!“þßþiyþ™˜ !î!e«ëûyîû vþz”y£îû’Ð
23. (c) xÄyœ!¦þç!œ £œ Ç%þo öîœ%˜ xy„,þ!“þîû „þyàþyöì›y ~î‚

Ù»y¢ëöìsþfîû Ç%þo“þ› !†!îûþ™í ö¢…yöì̃  †Äy¢ !î!˜›ëû £ëûÐ



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 1  ö›– 20242

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

24. (b) ²ÌyíÅ̃ y ¢›y‹ 1867 ¢yöìœ xydyîûy› þ™yu%þîûD myîûy ²Ì!“þ!Ûþ“þ
£öìëû!ŠéœÐ ~!Ýþ ¢y›y!‹„þ ç •›Å#ëû ¢‚ßþñyöìîûîû vþzöìjöìŸÄ ²Ì!“þ!Ûþ“þ
£öìëû!ŠéœÐ vþyƒ xydyîûy› þ™yu%þîûD !Šéöìœ˜ ~„þ‹˜ ¦þyîû“þ#ëû
!‰þ!„þê¢„þ ç ¢›y‹ ¢‚ßþñyîû„þÐ ²ÌyíÅ̃ y ¢›y‹ öîyöìÁºöì“þ
²Ì!“þ!Ûþ“þ £öìëû!ŠéœÐ

25. (d) òœyÁºy!”ó öœy„þ˜,“þÄ xõÉþ²Ìöì”Ÿ îûyöì‹Äîû ¢öìD ‹!vþü“þÐ !î£yöìîûîû
öœy„þ˜,“þÄ=!œ £œéôô !îöì”!Ÿëûy– ‹y“þéôé‹!“þ˜– „þy‹!îû–
övþy›„þ‰þ ²Ì¦,þ!“þÐ

26. (b) xîû&’y‰þœ ²Ìöì”öìŸîû çëûyöìMþéy vþzöìvþ˜ e«ÄyšþÝþ GI ÝþÄy† œy¦þ
„þîûœÐ î‚Ÿ þ™îûÁ™îûyëû çëûyöìMþéy vþzþ™‹y!“þöì”îû myîûy ‰þ‰Åþy „þîûy
~£z ‹y!“þ†“þ !ŸÒ!Ýþ ¢y‹¢Iy ~î‚ vþzþ™£yîû ö”çëûyîû ‹˜Ä
îÄî£*“þ £ëûÐ ~!Ýþ œ‚!vþ ~î‚ ‰þÄy‚œ‚öì‹œyîû çëûyöìMþéyîûy
÷“þ!îû „þöìîûöìŠéÐ

27. (a) öîûy£Ýþy‚ !†!îûþ™í ›y˜y!œ öíöì„þ ²Ìyëû 51 !„þ!› ”)öìîû !£›yœöìëûîû
þ™#îûþ™yOyœ öîûöìOîû þ™)îÅ ²Ìyöìhsþ xî!ßþi“þ ~„þ!Ýþ vþzF‰þ þ™yîÅ“þÄ
!†!îûþ™íÐ ~!Ýþ ›y˜y!œ ~î‚ öœ ¢vþü„þþ™íöì„þ ¢‚ë%_« „þöìîûöìŠéÐ
þ™y¢!Ýþ ö‰þ˜yî ~î‚ !îëûy¢ xîîy!£„þyîû ›•Äî“Åþ# ‹œyŸöìëû
xî!ßþi“þÐ

28. (d) èîûDöì‹î xyœ›†#îû ç !‹¨yþ™#îû vþ zþ™y!•öì“þ ¦)þ!¡ì“þ
£öìëû!Šéöìœ˜Ð èîûDöì‹öìîîû xy›öìœ ›%‡œ ~œy„þy !Šéœ ¢îöì‰þöìëû
îvþüÐ èîûDyöì‹î î#’y îy‹yöì“þ˜Ð !“þ!˜ 1679 ¢yöìœ !‹!‹ëûy
„þîû ‰þyœ% „þöìîû!Šéöìœ˜Ð !“þ!˜ 1667 ¢yöìœ ¢%îûyöìÝþ ~„þ!Ýþ
„þyîû…y˜y ßþiyþ™öì̃ îû ‹˜Ä šþîûy!¢öì”îû x˜%›!“þ !”öìëû!Šéöìœ˜Ð

29. (a) !m“þ#ëû xÄy‚öìœy ›£#Ÿ)îû ë%kþ 1780-1784 ¢yöìœ ›£#Ÿ)îû
îûy‹Ä ~î‚ !îÊ!ÝþŸ £zÞÝþ £z!uþëûy ö„þyÁ™y!˜îû ›öì•Ä ¢‚‡!Ýþ“þ
£öìëû!ŠéœÐ ë%öìkþîû ¢›ëû £yëû”yîû xy!œ ›yîûy ö†öìœç “þyîû
öŠéöìœ !Ýþþ™% ¢%œ“þy˜ ë%kþ ‰þy!œöìëû ëy˜Ð

xÄy‚öìœy ›£#Ÿ)îû ë%öìkþîû ¢›ëû¢#›y

²Ìí› xÄy‚öìœy ›£#Ÿ)îû ë%kþ 1767-1769 ¢yœ

!m“þ#ëû xÄy‚öìœy ›£#Ÿ)îû ë%kþ 1780-1784 ¢yœ

“,þ“þ#ëû xÄy‚öìœy ›£#Ÿ)îû ë%kþ 1790-1792 ¢yœ

‰þ“%þíÅ xÄy‚öìœy ›£#Ÿ)îû ë%kþ 1798-1799 ¢yœ

30. (a) !Ýþ ~› „,þ¡Œ £öìœ˜ „þ’ÅyÝþöì„þîû ~„þ‹˜ ²Ì…Äy“þ „þZþ!ŸÒ#Ð !“þ!˜
2024 ¢yöìœ ¢D#“þ „þœy!˜!• þ™%îûßþñyöìîû ¢Á¿y!˜“þ £öìœ˜Ð
!“þ!˜ 2016 ¢yöìœ îû›˜ ›Äy†öì¢öì¢ þ™%îûßþñyîû œy¦þ „þöìîû!Šéöìœ˜Ð

31. (a) £y£z!“þöì“þ xyÝþöì„þ þ™vþüy ¦þyîû“þ#ëûöì”îû ¢!îûöìëû ö˜çëûyîû ‹˜Ä
‰þyœ% £çëûy x!¦þëyöì̃ îû ˜y› £zwyî“þ#Ð

32. (b) !îûöì„þ˜ £zëûy›yöì›yöìÝþ 2024 ¢yöìœîû !²Ìê‹„þyîû þ™%îûßþñyöìîû
¢Á¿y!˜“þ £öìœ˜Ð

33. (c) 1859-60 !…Êƒ îy‚œyîû ˜”#ëûy ö‹œyîû ö†y!î¨þ™%öìîû öë
!îöìoyöì£îû ¢)‰þ̃ y £ëû– “þyöì„þ ˜#œ!îöìoy£ îöìœÐ ~£z !îöìoyöì£îû
ö˜“þy !Šéö ìœ˜ !”†Áºîû !îÙ»y¢ ç !î¡%Œ‰þîû’ !îÙ»y¢Ð

˜#œ!îöìoyöì£îû ²Ìí› Ÿ£#” £œ !îÙ»˜yí ¢”ÅyîûÐ ‹!›”yîû
îy‚œyîû ˜y˜y¢yöì£î !Šéöìœ˜ îûy›îû“þ˜ ›!ÍÔ„þ îûyëûÐ ˜#œ”þ™Å̃
˜yÝþ„þ!Ýþ îy‚œyëû öœöì…˜ ”#˜îõ%þ !›e ~î‚ £z‚öìîû!‹öì“þ öœöì…˜
›•%¢)”˜ ”_Ð

34. (d) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû “,þ“þ#ëû x•Äyöìëû (Part-III) 12-35
˜‚ •yîûyëû ö›ï!œ„þ x!•„þyöìîûîû !î¡ìëû !˜!£“þ îûöìëûöìŠéÐ

 “,þ“þ#ëû x•Äyëû!Ýþöì„þ ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû ²Ì•y˜ ¢˜” îœy
£ëûÐ

 ö›ï!œ„þ x!•„þyîû!Ýþ xy”yœ“þ „þ“,Åþ„þ îœîêöìëy†ÄÐ

 ö„þyöì̃ y îÄ!_« ë!” ›öì̃  „þöìîû̃  “þyîû ö›ï!œ„þ x!•„þyîû
œC˜ £öìFŠééôô “þy£öìœ !“þ!˜ ¢%!²Ì› ö„þyöìÝÅþîû S32V ˜‚ •yîûy
£y£zöì„þyöìÝÅþîû S226V ˜‚ •yîûyëû myîûßþi £öì“þ þ™yöìîû̃ Ð

35. (c) ¦þyîû“þ#ëû ¢‚!î•y˜ 22 No Partéôé~îû 368 •yîûyëû ¢‚!î•y˜
¢‚öìŸy•öì̃ îû !“þ˜!Ýþ þ™kþ!“þîû „þíy vþzöìÍÔ… xyöìŠéÐ

(i) Special Majority (ii) Special Majority of
Parliament with Ratification by half of the seats
in simple majority (iii) Simple Majority
 368 ˜‚ •yîûyëû (i) (ii) ~£z ”%!Ýþ îÄîßþiyîû „þíy vþzöìÍÔ… „þîûy
xyöìŠéÐ

 Simple Majority 368 ˜‚ •yîûyëû ö˜£zÐ

36. (c) ¦þoîyý îû!‰þ“þ @ùÌsþi „þÒ¢)eÐ ~!Ýþ ~„þ!Ýþ ÷‹˜ •›Å@ùÌsþi– ~£z
@ùÌöìsþi ÷‹˜ “þ#íÅBþîûöì”îû ‹#î˜# þ™yçëûy ëyëûÐ “þ#íÅBþîû þ™yÙ»Å̃ yí
ç ›£yî#öìîûîû ‹#î˜# ~£z @ùÌöìsþi !îöìŸ¡ì¦þyöìî xyöìœy!‰þ“þ
£öìëûöìŠéÐ

37. (d) 29 ˜‚ •yîûy ­ ˜y†!îû„þöì”îû ¢„þœ ¢Á±”yëûöì„þ !˜‹ !˜‹
¦þy¡ìy ¢‚ßþ,ñ!“þ ç !œ!þ™ îÄî£yöìîûîû x!•„þyîû ö”çëûy £öìëûöìŠéÐ
¢îû„þy!îû !ŸÇþy ²Ì!“þÛþyöì̃  •›Å– î’Å– ¦þy¡ìy– ö×!’ !˜!îÅöìŸöì¡ì
²ÌöìîŸy!•„þyîû ßþº#„,þ“þ £öìëûöìŠéÐ

30 ˜‚ •yîûy ­ !ŸÇþy ²Ì!“þÛþyöì̃ îû ²Ì!“þ ö„þyöì̃ y îû„þ› ÷î¡ì›Ä›)œ„þ
xy‰þîû’ „þîûy ëyöìî ˜y (30 ˜‚ •yîûyVÐ

38. (d) ‡%› þ™y£yöìvþüîû ›£yœ!•îûy‹Ä Gþîû̃ y Sþ™y†œyöìGþyîûy ‹œ²Ìþ™y“þV
öíöì„þ vþzêþ™!_ œy¦þ „þöìîû îy‚œyöì”öìŸîû þ™py˜”#öì“þ !›öìŸöìŠéÐ
~îû ²Ì•y˜ ²Ì•y˜ vþzþ™˜”#=!œ £œ þ™)’Å¦þîy– î#œy¢˜– ö›!‰þ–
ÝþyD˜– „þy!œ¨# ²Ì¦,þ!“þÐ

39. (a) 1914 !…Êƒ

40. (a) òö†yœ„þ˜yí ›y›œyëûó ¢%!²Ì›öì„þyÝÅþ ~£z x!¦þ›“þ îÄ_« „þöìîû
öë þ™yœÅyöì›rÝþ ö›ï!œ„þ x!•„þyîû ¢‚öìŸy•˜ „þîûöì“þ þ™yöìîû ˜yÐ
ö›ï!œ„þ x!•„þyîû £îû’ îy Ç%þ] „þîûy ëyëû ˜yÐ ¢‚!î•yöì̃ îû
13(2) •yîûy x˜%¢yöìîû îœy xyöìŠé öë îûyÜTÉ ö›ï!œ„þ x!•„þyîû
!îöìîûy•# ö„þyöì̃ y xy£z̃  ²Ì’ëû̃  „þîûöìœ “þy îy!“þœ £öìëû ëyöìîÐ
xyöìîûy îœy £ëû öë 13(2) •yîûyëû vþz!ÍÔ!…“þ xy£z̃  îœöì“þ
þ™yœÅyöì›rÝþ „þ“,Åþ„þ ²Ì’#“þ ¢y•yîû’ xy£zöì̃ îû ›“þ ¢‚!î•y˜
¢‚öìŸy•˜# xy£z̃ öì„þç öîyGþyëûÐ
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢ÅxÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

41. (d) Altogether
42. (d) was playing
43. (a) Relative
44. (c) passed the crisis
45. (c) response
46. (d) Boastful
47. (b) hold on
48. (a) Amazon
49. (b) take advantage of
50. (c) to be unwell
51. (d) unpursuasive
52. (c) Antidote
53. (d) Conscientious
54. (a) unwilling to change
55. (b) come to know
56. (b) jealous
57. (c) met
58. (a) Remove 'shall'
59. (c) has
60. (d) no improvement
61. (b) Fiery means consisting of fire or burning

strongly and brightly.
62. (c) with certainly; for sure
63. (c) Panic
64. (a) To restart from the previous closing point
65. (c) Fraction
66. (b) Gourmet means – a penson who is knowled-

geable about good food and drink.
67. (d) increase
68. (b) inappropriate
69. (c) to dislike
70. (b) allow
71. (a) •!îû– 8 îŠéîû þ™)öìîÅ öŸ…öìîûîû îëû¢ = x îŠéîû ~î‚ !îŸyöìœîû

îëû¢ = 4x îŠéîûÐ
öŸ…öìîûîû î“Åþ›y˜ îëû¢ = (x + 8) îŠéîû ~î‚ !îŸyöìœîû
î“Åþ›y˜ îëû¢ = (4x + 8) îŠéîû
(4x + 8) + 8 = 2[(x + 8) + 8]
 4x + 16 = 2x + 32
 2x = 16  x = 8
 öŸ…öìîûîû î“Åþ›y˜ îëû¢ = (8 + 8) = 16 îŠéîû
!îŸyöìœîû î“Åþ›y˜ îëû¢ = (4 × 8 + 8) = 40 îŠéîû

72. (d) •!îû– !îîyöì£îû ¢›ëû !›öìŸöìœîû îëû¢ x îŠéîû !ŠéœÐ “þy£öìœ–

(x + 9) =
4
3 x  3(x + 9) = 4x

 3x + 27 = 4x  x = 27
!›öìŸöìœîû î“Åþ›y˜ îëû¢ = (27 + 9) = 36 îŠéîû

“þyîû þ™%öìeîû îëû¢
1 36 6
6

    
 

îŠéîû

2 îŠéîû xyöì† “þyîû þ™%öìeîû îëû¢ !Šéœ = (6 – 2) = 4 îŠéîû
73. (d) ¢%öì̃ ˜yîû î“Åþ›y˜ îëû¢ = x

xyîû!“þîû î“Åþ›y˜ îëû¢ = y
þ™¤y‰þ îŠéîû þ™îû ¢%öì̃ ˜yîû îëû¢ = x + 5
þ™¤y‰þ îŠéîû þ™îû xyîû!“þîû îëû¢ = y + 5

²ÌÙÀy˜%¢yöìîû– x + 5 =
3
4 (y + 5)

 4x – 3y = –5 ...(i)
þ™¤y‰þ îŠéîû xyöì† ¢%öì̃ ˜yîû îëû¢ = x – 5
þ™¤y‰þ îŠéîû xyöì† xyîû!“þîû îëû¢ = y – 5

²ÌÙÀy˜%¢yöìîû– 
x 5 2
y 5 3





3x – 2y = 5 ...(ii)
(i) ~î‚ (ii) ¢›#„þîû’ ¢›y•y˜ „þöìîû þ™y£z–
y = 35, x = 25 îŠéîû
xyîû!“þîû î“Åþ›y˜ îëû¢ = 35 îŠéîû

74. (c) 3 ( 6) 2x 13 3
5 5

  
      
   

 2x – 1 = –3  2x = –2  x = –1
75. (a) ¢Mþéëû = ›y!¢„þ xyöìëûîû 12%  …îû‰þ = ›y!¢„þ xyöìëûîû

88%
•!îû ›y!¢„þ xyëû = x Ýþy„þy “þy£öìœ

x ~îû 88% = 19360  x × 
88

100 = 19360

100x 19360 22000
88

     
 

 ›y!¢„þ xyëû = 22000 Ýþy„þy
76. (b) 6 !œÝþyîû oîöì’ œîöì̃ îû ›yey

5 36
100 10

    
 

 !œÝþyîû

1 !œÝþyîû ‹œ öîîû „þîûyîû þ™îû oîöì’îû þ™!îû›y’ = 5 !œÝþyîû

5 !œÝþyöìîû œî˜
3

10
 !œÝþyîû

œîöì̃ îû % 3 1 100 % 6%
10 5
     
 
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xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

77. (a) •!îû– ‡!vþüîû •yëÅ›)œÄ = x Ýþy„þy
“þy£öìœ x ~îû 90% = 1080

90 100x 1080 x 1080 1200
100 90

        
 

~…˜ !îe«ëû›)œÄ = •yëÅ›)œÄ = 1200 Ýþy„þy– œy¦þ = 20%

 e«ëû›)œÄ 
100 1200 1000
120
    
 

 Ýþy„þy

78. (c) •!îû– 1 Ýþy„þy– 50 þ™ëû¢y– 25 þ™ëû¢yîû ›%oyîû ¢‚…Äy £œ ëíye«öì›
5x, 9x, 25x
“þy£öìœ ~öì”îû ö›yÝþ ›)œÄ

 20x 18x 25x5x 9x 25x
1 2 4 4

      
 
63x

4
  Ýþy„þy

 1008 463x 1008 x 64
4 63


    

1 Ýþy„þy ›%oyîû ¢‚…Äy = (5 × 64) = 320
50 þ™ëû¢yîû ›%oyîû ¢‚…Äy = (9 × 64) = 576
25 þ™ëû¢yîû ›%oyîû ¢‚…Äy = (25 × 64) = 1600

79. (a) 2

1 1 1 1 1 1
x x 5 1.25 x 6.25
    

 x2 = 6.25 = (2.5 × 2.5) = (2.5)2

 x = 2.5
80. (d) •!îû– !˜öì’Åëû ¢‚…Äy=!œ £œ ëíye«öì› 3x ~î‚ 4x

“þy£öìœ ¢‚…Äy ”%!Ýþîû †¢y= = x ~î‚ œ¢y= = 12x
¢‚…Äy=!œîû =’šþœ
x × 12x = 2028  x2 = 169 = (13)2

 x = 13
 ²Ì”_ ¢‚…Äy=!œîû öëy†šþœ
= (3x + 4x) = 7x = (7 × 13) = 91

81. (b) •!îû A ~îû ›)œ•˜ = x Ýþy„þy
“þy£öìœ A, B ~î‚ C ~îû ›)œ•öì̃ îû x˜%þ™y“þ
= (x × 12) : (2x × 6) : (3x × 4)
= 12x : 12x : 12x = 1 : 1 : 1

 C ~îû ¦þy†
127000
3

   
 

= 9000 Ýþy„þy

82. (c) •!îû– x ‹˜ öœyöì„þîû ²Ìöìëûy‹˜

„þ› !”˜– öî!Ÿ öœy„þ SîÄhßþy˜%þ™y“þV

öî!Ÿ „þy‹– öî!Ÿ öœy„þ S¢›y˜%þ™y“þV

8:12
:: 7 : x

y : 2y




!”˜
„þy‹ 

 (8 × y × x) = (12 × 2y × 7)

 
 

12 2y 7
x

8 y
 

 


 x = 21
x!“þ!îû_« öœyöì„þîû ¢‚…Äy = (21 – 7) = 14

83. (b) •!îû– £¤yÝþy þ™öìíîû ”)îûc = x !„þ!›
“þy£öìœ ¢y£zöì„þœ myîûy ëyëû = (61 – x) !„þ!›

x 61 x 9 9x 4(61 x) 324
4 9


      

 5x = (324 – 244) = 80  x = 16
¢%“þîûy‚ þ™yöìëû £¤yÝþy ”)îûc = 16 !„þ!›

84. (d) ößþËyöì“þîû !îþ™îû#öì“þ †!“þ 
3 4 60
4 45

    
 

!„þ!›/‡^ùÝþy

    = 4 !„þ!›/‡^ùÝþy
ößþËyöì“þîû !”öì„þ †!“þ

3 2 60
4 15

    
 

!„þ!›/‡^ùÝþy = 6 !„þ!›/‡^ùÝþy

!ßþiîû ‹öìœ ~îû †!“þ = 
1
2 (4 + 6) = 5 !„þ!›/‡^ùÝþy

85. (c) •!îû– !›×öì’îû †vþü ›)œÄ = a Ýþy„þy/ö„þ!‹
 …yîûyþ™ ›yöì̃ îû !‰þ!˜îû ›)œÄ = (a – 0.75) Ýþy„þy/ö„þ!‹
¦þyöìœy ›yöì̃ îû !‰þ!˜îû ›)œÄ = (a + 0.5) Ýþy„þy/ö„þ!‹
!›×öì’îû ¢)e myîûy

    
a

a + 0.5 a – 0.75

a – a + 0.75 = 0.75 a + 0.5 = 0.5

 !˜öì’Åëû x˜%þ™y“þ = 0.75 : 0.5 = 3 : 2

86. (b) x R Ty 100
   [ R = ¢%öì”îû £yîû– T = ¢›ëû]

yRT
x100 

y R Tz 100
 

RT z
100 y

 

y z
x y

   2y xz 

87. (b) ¢îûœ ¢%” =  20 12600 T
3 100

     520 T
3

 

[ T = ¢›ëû SîŠéîûV]
ë!” T ~îû ›y˜ 3 îŠéîû £ëû “þy£öìœ ²Ìy® ¢%öì”îû Ýþy„þyîû
þ™!îû›y’ þ™)’Å ¢‚…Äyëû þ™yçëûy ëyöìîÐ

xíÅyê– T S¢›ëûV = 3 îŠéîûÐ
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

88. (b) öŠéöìœ           ö›öìëû

1
1
2

    

39
45
    

11 : 4

öŠéöìœîû ¢‚…Äy = 1145
15

  = 33

89. (c) ~öìÇþöìe d = 27, t1 = 9, t2 = 3

 o&“þ“þ› îÄ!_«îû †!“þöìî† 1 2

1 2

t td
2 t t

 
   

 27 9 3
2 9 3


  = 6 !„þ!›/‡rÝþy

90. (b) !›×öì’   ‹œ
‹öìœîû ö›Ÿyöì̃ yîû
þ™!îû›y’ þ™!îû›y’

1
4

1

    

1
2

    

1
2

:
1
4

2 1


1
3  x‚Ÿ !›×’ “%þöìœ !˜öìëû ¢›þ™!îû›y’ ‹œ ö›Ÿyöì“þ £öìîÐ

91. (d) ‰þy„þy!Ýþîû þ™!îû!•  44 1000
4000

  !›Ýþyîû = 111!›Ýþyîû

 2 ×  × r = 11

 r 11 7
2 22



= 1.75 !›Ýþyîû

92. (a) a(a2 + 3a + 3)
= a3 + 3a2 + 3a + 1 – 1
= (a + 1)3 – 1
= (99 + 1)3 – 1
= 1000000 – 1 = 999999

93. (a)
A

O

B

P

PA ~î‚ PB ”%!Ýþ ßþ™ŸÅ„þÐ
OAP = OBP = 90°
ö”çëûy xyöìŠé– AOB = 120°
OAPB ‰þ“%þ¦Å%þ‹–
APB = 360° – (OAP + OBP + AOB)
= 360° – (180° + 120°) = (360° – 300°)
= 60

94. (d) š¤þyþ™y ö‰þyöì̂ îû îÄy¢y•Å = R 30
2

 cm = 15 cm

š¤þyþ™y ö‰þyöì̂ îû vþzF‰þ“þy = H = 1m = 100 cm

öŠéyöìÝþy ö‰þyöì̂ îû îÄy¢y•Å = r = 10
2 cm = 5 cm

š¤þyþ™y ö‰þyöì̂ îû vþzF‰þ“þy = h = 10 cm

 !˜öì’Åëû ö‰þyöì̂ îû ¢‚…Äy
2

2
R H
r h




!Ýþ

15 15 100
5 5 10

   
   !Ýþ = 90!Ýþ

95. (b) ‰þy„þy!Ýþ 140 îyöìîû ëyëû = 2 ×  × 30 × 140 cm
          = 26400 cm

 ‰þy„þy!Ýþîû †!“þöìî† 26400 60
100000

 km/hr

= 15.84 km/hr
96. (d) ¢›hßþ ²Ìy’# ›%îû!† £öìœ ö›yÝþ þ™y = 70 × 2 = 140!ÝþÐ

¢›hßþ ²Ìy’# Šéy†œ £öìœ ö›yÝþ þ™y = 70 × 4 = 280!ÝþÐ
²Ì„,þ“þþ™öìÇþ þ™y = 180 !Ýþ

140 280
Šéy†œ›%îû!†

180

100 40

¢›hßþ ²Ìy’#

 ›%îû!† ç Šéy†öìœîû x˜%þ™y“þ = 100 : 40 = 5 : 2

 ›%îû!†îû ¢‚…Äy 570
7

  !Ýþ = 50!Ýþ
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97. (b)

20 – 10
!m“þ#ëû x‚Ÿ²Ìí› x‚Ÿ

x
¢›@ùÌ x‚Ÿ

5
7

2
7

 
20 x 2

x 10 5



 

îy–  100 – 5x = 2x + 20
îy– 7x = 80

îy– 
80x
7



 œy¦þ = 
80 %
7

98. (b) (989 – 5) = 984, 1327 – 7 = 1320
984 ç 1320éôé~îû †¢y= £öìî !˜öì’Åëû ¢‚…Äy

984) 1320 ( 1
          984
          336) 984 ( 2
                  672
                   312) 336 ( 1
                           312
                             24) 312 ( 13
                                   24
                                   72
                                   72
 !˜öì’Åëû î,£_› ¢‚…Äy = 24

99. (c) •!îû– ABCD £œ ~„þ!Ýþ îûÁº¢ öëÝþyîû „þ’Å AC = 16 ö¢!›
~î‚ „þ’Å BD = 12 ö¢!› AC ~î‚ BD ~îû öŠé”!î¨%
~öì”îû 90°éôéö“þ ¢›!m…![þ“þ „þöìîûÐ
 AO = OC = 8 ö¢!›
BO = OD = 6 ö¢!› ~î‚ AOB = 90°
AB2 = OA2 + OB2 = (8)2 + (6)2

= (64 + 36) = 100 = (10)2

 AB = 10 ö¢!›
¢%“þîûy‚ ABCD ~îû ²Ì!“þ!Ýþ îyýîû ÷”‡ÅÄ 10 ö¢!›Ð

100.(b) •!îû– ö›yÝþ v%þî ö”çëûy îÄ!_«îû ¢‚…Äy = x “þy£öìœ
1 1 18x 0.1 24 15 x

100 10 5
      

18x 10 x 36
5

      
 

¢%“þîûy‚– !˜öì’Åëû îÄ!_«îû ¢‚…Äy = 36


